MULTIPLICATION: NEGATIVE DECIMAL NUMBERS (H - SET 2)

SINGLE DECIMAL PLACE 1;;1 oo
o 0.1 X 0.2 = 06 —1 x 0.5 =
2 —10 x (—0.6) = w0 —0.5 x (=9) =
1 0 x (=8) = 108 ) x 8 =
1 9 x (=h) = 109 —4 x 3=
9% 7 x (0.8 = 110 0.3 X 0.5 =
%) 4 x (=2) = 9 x (=3) =
i —0.4 x 0.2 = 12 0.1 x 1=
%) 9 x (0.1 = 113 —0.3 x 0.1 =
00) —T7x ] = ) 0.8 x (=7) =
100) —0.2 X 6 = 15 —0.1 x 4 =
o) —0.6 x (=0.8) = 1o 0 x 9=
102 —0.9 x (=5) = - —0.9 x 0.5 =
103) —0.4 x 0= s 3 X 5=
0 0.2 % (—8) = 19 2 x 0.4 =
105 —1 x 0.4 = 120 1 x (=6) =
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